CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15

(NUMBER OF BIDS RECEIVED - 6)

BID SUMMARY				-	S ESTIMATE	PO BOX 1728 SAN RAMON, C (510) 733-0390 (510) 733-0389	O BOX 1728 AN RAMON, CA 94583		Rosas Bros. Construction 4731 Coliseum Way Oakland, CA 94601 (510) 534-1077 (510) 534-5077 FAX	
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	10-1.08	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00
2	10-1.11	1	LS	TRAFFIC CONTROL	\$20,000.00	\$20,000.00		\$15,000.00	\$3,000.00	\$3,000.00
3	10-1.14	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00		\$20,000.00	\$5,000.00	\$5,000.00
4	10-1.17	297	CY	4(F) ROADWAY EXCAVATION	\$100.00	\$29,700.00	\$286.00	\$84,942.00	\$125.00	\$37,125.00
5	10-1.13A	1969	SF	REMOVE EXISTING CONCRETE	\$5.00	\$9,845.00	\$3.00	\$5,907.00	\$4.00	\$7,876.00
6	10-1.13A	280	LF	REMOVE EXISTING CONCRETE CURB AND GUTTER	\$20.00	\$5,600.00	\$10.00	\$2,800.00	\$10.00	\$2,800.00
7	10-1.13B	4290	SF	REMOVE EXISTING ASPHALT CONCRETE	\$3.00	\$12,870.00	\$2.40	\$10,296.00	\$4.00	\$17,160.00
8	10-1.13	5	LF	REMOVE/RELOCATE EXISTING WOODEN FENCE	\$50.00	\$250.00	\$100.00	\$500.00	\$120.00	\$600.00
9	10-1.13	2	EA	REMOVE EXISTING METAL BOLLARDS	\$150.00	\$300.00	\$30.00	\$60.00	\$100.00	\$200.00
10	10-1.13	151	LF	REMOVE AND RELOCATE EXISTING IRRIGATION PIPE AND SPRINKLER HEADS	\$20.00	\$3,020.00	\$10.00	\$1,510.00	\$10.00	\$1,510.00
11	10-1.13C	6	EA	REMOVE, SALVAGE AND REINSTALL EXISTING ROADWAY SIGNS	\$250.00	\$1,500.00	\$300.00	\$1,800.00	\$200.00	\$1,200.00
12	10-1.14A	46	EA	ROOT PRUNE EXISTING TREE AND INSTALL ROOT BARRIER	\$500.00	\$23,000.00	\$700.00	\$32,200.00	\$800.00	\$36,800.00
13	10-1.14A	46	EA	ARBORIST SUPERVISION	\$200.00	\$9,200.00	\$100.00	\$4,600.00	\$350.00	\$16,100.00
14	10-1.14B	5	EA	REMOVE EXISTING TREE	\$800.00	\$4,000.00	\$1,000.00	\$5,000.00	\$1,300.00	\$6,500.00
15	10-1.23B	1280	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$20.00	\$25,600.00	\$10.00	\$12,800.00	\$14.50	\$18,560.00
16	10-1.24	1	EA	RETROFIT EXISTING CURB RAMP WITH DETECTABLE WARNING SURFACE	\$800.00	\$800.00	\$900.00	\$900.00	\$600.00	\$600.00
17	10-1.23B	17685	SF	MINOR CONCRETE (SIDEWALK-4" THICK)	\$10.00	\$176,850.00	\$6.00	\$106,110.00	\$9.00	\$159,165.00
18	10-1.23B	680	LF	MINOR CONCRETE (CURB AND GUTTER)	\$35.00	\$23,800.00	\$40.00	\$27,200.00	\$45.00	\$30,600.00
19	10-1.23B	930	LF	MINOR CONCRETE (6" RETAINING CURB)	\$35.00	\$32,550.00	\$30.00	\$27,900.00	\$80.00	\$74,400.00
20	10-1.23B	3680	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY - 6" THICK)	\$15.00	\$55,200.00	\$8.00	\$29,440.00	\$10.00	\$36,800.00
21	10-1.23B	1090	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY CONFORM - 6" THICK)	\$15.00	\$16,350.00	\$11.00	\$11,990.00	\$10.00	\$10,900.00
22	10-1.21	535	TN	HOT MIX ASPHALT (6" FULL DEPTH) PAVEMENT	\$125.00	\$66,875.00	\$100.00	\$53,500.00	\$105.00	\$56,175.00
23	10-1.21	325	SF	HOT MIX ASPHALT (DRIVEWAY CONFORM - 6" FULL DEPTH) PAVEMENT	\$10.00	\$3,250.00	\$14.00	\$4,550.00	\$9.00	\$2,925.00
24	10-1.25	1300	SF	DECOMPOSED GRANITE (2" THICK)	\$2.50	\$3,250.00	\$10.00	\$13,000.00	\$7.00	\$9,100.00
25	10-1.23	2	EA	16"X16" AREA DRAIN WITH 3" DIAMETER THRU CURB DRAIN	\$1,000.00	\$2,000.00	\$900.00	\$1,800.00	\$2,000.00	\$4,000.00

Morad Fakhrai, Director of Public Works

Date

CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15 (NUMBER OF BIDS RECEIVED - 6)

Morad Fakhrai, Director of Public Works Date

			-				Gradetech, In	с.	Rosas Bros. C	Construction
							PO BOX 1728		4731 Coliseum	
			BII	D SUMMARY	ENGINEER	'S ESTIMATE	SAN RAMON, C	A 94583	Oakland, CA 94601	
							(510) 733-0390		(510) 534-1077	
							(510) 733-0389		(510) 534-5077	
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
26	10-1.23	5	EA	16"X16" AREA DRAIN WITH 3" X 5" RECTANGULAR THRU CURB DRAIN	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00		\$10,000.00
27	10-1.28	192	SY	2' WIDE EARTH SWALE WITH TURF REINFORCEMENT MAT	\$40.00	\$7,680.00	\$50.00	\$9,600.00	\$100.00	\$19,200.00
28	10-1.13D	12	EA	ADJUST WATER VALVE BOX & COVER TO GRADE	\$500.00	\$6,000.00	\$500.00	\$6,000.00	\$500.00	\$6,000.00
29	10-1.13D	6	EA	RELOCATE WATER VALVE BOX & COVER	\$500.00	\$3,000.00	\$1,400.00	\$8,400.00	\$500.00	\$3,000.00
30	10-1.13D	1	EA	REMOVE WATER VALVE BOX & COVER	\$500.00	\$500.00	\$30.00	\$30.00	\$500.00	\$500.00
31	10-1.13D	1	EA	REPLACE WATER VALVE BOX & COVER	\$800.00	\$800.00	\$50.00	\$50.00	\$300.00	\$300.00
32	10-1.13D	4	EA	ADJUST MANHOLE FRAME AND COVER TO GRADE	\$1,000.00	\$4,000.00	\$700.00	\$2,800.00	\$900.00	\$3,600.00
33	10-1.18	1	LS	RECYCLING IMPLEMENTATION	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
34	10-1.29	3	EA	24-INCH BOX TREE	\$750.00	\$2,250.00	\$1,100.00	\$3,300.00	\$900.00	\$2,700.00
35	10-1.13C	3	EA	INSTALL RUBBERIZED SPEED LUMP	\$3,000.00	\$9,000.00	\$5,800.00	\$17,400.00	\$8,500.00	\$25,500.00
36	10-1.26	360	LF	THERMOPLASTIC STRIPING, MARKINGS AND PAVEMENT MARKERS	\$15.00	\$5,400.00	\$5.00	\$1,800.00	\$25.00	\$9,000.00
				TOTAL BID AMOUNT:		\$ 596,440.00		\$558,185.00		\$633,896.00
				TOTAL		\$596,440.00		\$558,185.00		\$633,896.00

CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15 (NUMBER OF BIDS RECEIVED - 6)

							Redgwick Co	nstruction Co.	-	d Construction	
			RI	D SUMMARY	ENGINEED'	S ESTIMATE	21 Hegenberger		651 Enterprise C		
			DI	JOMMARI		SESTIMATE	Oakland, CA 94	4621	Livermore, CA 94550		
						(4			(925) 245-1300)	
							(510) 792-1728	FAX	(925) 245-1244	FAX	
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	10-1.08	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00	\$26,500.00	\$26,500.00		\$18,000.00	
2	10-1.11	1	LS	TRAFFIC CONTROL	\$20,000.00	\$20,000.00	\$36,400.00	\$36,400.00		\$57,200.00	
3	10-1.14	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		\$22,900.00	
4	10-1.17	297	CY	4(F) ROADWAY EXCAVATION	\$100.00	\$29,700.00	\$40.00	\$11,880.00		\$45,738.00	
5	10-1.13A	1969	SF	REMOVE EXISTING CONCRETE	\$5.00	\$9,845.00	\$3.00	\$5,907.00	\$6.00	\$11,814.00	
6	10-1.13A	280	LF	REMOVE EXISTING CONCRETE CURB AND GUTTER	\$20.00	\$5,600.00	\$10.00	\$2,800.00		\$3,920.00	
7	10-1.13B	4290		REMOVE EXISTING ASPHALT CONCRETE	\$3.00	\$12,870.00	\$2.00	\$8,580.00		\$25,740.00	
8	10-1.13	5	LF	REMOVE/RELOCATE EXISTING WOODEN FENCE	\$50.00	\$250.00	\$300.00	\$1,500.00		\$770.00	
9	10-1.13	2	EA	REMOVE EXISTING METAL BOLLARDS	\$150.00	\$300.00	\$100.00	\$200.00	\$320.00	\$640.00	
10	10-1.13	151	LF	REMOVE AND RELOCATE EXISTING IRRIGATION PIPE AND SPRINKLER HEADS	\$20.00	\$3,020.00	\$45.00	\$6,795.00	\$13.00	\$1,963.00	
11	10-1.13C	6	EA	REMOVE, SALVAGE AND REINSTALL EXISTING ROADWAY SIGNS	\$250.00	\$1,500.00	\$200.00	\$1,200.00	\$342.00	\$2,052.00	
12	10-1.14A	46	EA	ROOT PRUNE EXISTING TREE AND INSTALL ROOT BARRIER	\$500.00	\$23,000.00	\$100.00	\$4,600.00	\$195.00	\$8,970.00	
13	10-1.14A	46	EA	ARBORIST SUPERVISION	\$200.00	\$9,200.00	\$50.00	\$2,300.00	\$328.00	\$15,088.00	
14	10-1.14B	5	EA	REMOVE EXISTING TREE	\$800.00	\$4,000.00	\$600.00	\$3,000.00	\$1,425.00	\$7,125.00	
15	10-1.23B	1280	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$20.00	\$25,600.00	\$13.00	\$16,640.00	\$1 <i>7</i> .00	\$21,760.00	
16	10-1.24	1	EA	RETROFIT EXISTING CURB RAMP WITH DETECTABLE WARNING SURFACE	\$800.00	\$800.00	\$600.00	\$600.00	\$532.00	\$532.00	
17	10-1.23B	17685	SF	MINOR CONCRETE (SIDEWALK-4" THICK)	\$10.00	\$176,850.00	\$11.00	\$194,535.00	\$9.60	\$169,776.00	
18	10-1.23B	680	LF	MINOR CONCRETE (CURB AND GUTTER)	\$35.00	\$23,800.00	\$75.00	\$51,000.00	\$55.00	\$37,400.00	
19	10-1.23B	930	LF	MINOR CONCRETE (6" RETAINING CURB)	\$35.00	\$32,550.00	\$59.00	\$54,870.00	\$56.00	\$52,080.00	
20	10-1.23B	3680	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY - 6" THICK)	\$15.00	\$55,200.00	\$17.00	\$62,560.00	\$12.00	\$44,160.00	
21	10-1.23B	1090	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY CONFORM - 6" THICK)	\$15.00	\$16,350.00	\$30.00	\$32,700.00	\$14.00	\$15,260.00	
22	10-1.21	535	TN	HOT MIX ASPHALT (6" FULL DEPTH) PAVEMENT	\$125.00	\$66,875.00	\$110.00	\$58,850.00	\$165.30	\$88,435.50	
23	10-1.21	325	SF	HOT MIX ASPHALT (DRIVEWAY CONFORM - 6" FULL DEPTH) PAVEMENT	\$10.00	\$3,250.00		\$3,250.00		\$11,115.00	
24	10-1.25	1300	SF	DECOMPOSED GRANITE (2" THICK)	\$2.50	\$3,250.00	\$11.00	\$14,300.00	\$8.00	\$10,400.00	
25	10-1.23	2	EA	16"X16" AREA DRAIN WITH 3" DIAMETER THRU CURB	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00		\$1,820.00	

CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15 (NUMBER OF BIDS RECEIVED - 6)

							Redgwick Co	nstruction Co.	FBD Vanguard Construction			
			DI	D SUMMARY		'S ESTIMATE	21 Hegenberge	l Hegenberger Court		651 Enterprise Court		
			DI	D SUMMARI	EINGINEEK	SESTIMATE	Oakland, CA 94	4621	Livermore, CA 94550			
							(510) 792-1727	,	(925) 245-1300			
							(510) 792-1728	FAX	(925) 245-1244	FAX		
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL		
-26	10-1.23	5	EA	16"X16" AREA DRAIN WITH 3" X 5" RECTANGULAR THRU CURB DRAIN	\$1,000.00	\$5,000.00	\$800.00	\$4,000.00	\$1,800.00	\$9,000.00		
27	10-1.28	192	SY	2' WIDE EARTH SWALE WITH TURF REINFORCEMENT	\$40.00	\$7,680.00	\$25.00	\$4,800.00	\$40.00	\$7,680.00		
28	10-1.13D	12	EA	ADJUST WATER VALVE BOX & COVER TO GRADE	\$500.00	\$6,000.00	\$600.00	\$7,200.00	\$107.00	\$1,284.00		
29	10-1.13D	6	EA	RELOCATE WATER VALVE BOX & COVER	\$500.00	\$3,000.00	\$800.00	\$4,800.00	\$441.00	\$2,646.00		
30	10-1.13D	1	EA	REMOVE WATER VALVE BOX & COVER	\$500.00	\$500.00	\$60.00	\$60.00	\$321.00	\$321.00		
31	10-1.13D	1	EA	REPLACE WATER VALVE BOX & COVER	\$800.00	\$800.00	\$250.00	\$250.00	\$1,000.00	\$1,000.00		
32	10-1.13D	4	EA	ADJUST MANHOLE FRAME AND COVER TO GRADE	\$1,000.00	\$4,000.00	\$800.00	\$3,200.00	\$450.00	\$1,800.00		
33	10-1.18	1	LS	RECYCLING IMPLEMENTATION	\$2,000.00	\$2,000.00	\$10.00	\$10.00	\$695.00	\$695.00		
34	10-1.29	3	EA	24-INCH BOX TREE	\$750.00	\$2,250.00	\$650.00	\$1,950.00	\$684.00	\$2,052.00		
35	10-1.13C	3	EA	INSTALL RUBBERIZED SPEED LUMP	\$3,000.00	\$9,000.00	\$4,500.00	\$13,500.00	\$7,125.00	\$21,375.00		
36	10-1.26	360	LF	THERMOPLASTIC STRIPING, MARKINGS AND PAVEMENT MARKERS	\$15.00	\$5,400.00	\$6.00	\$2,160.00	\$13.68	\$4,924.80		
				TOTAL BID AMOUNT:		\$ 596,440.00		\$648,897.00		\$727,436.30		
				TOTAL		\$596,440.00		\$648,897.00		\$727,436.30		

CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15

(NUMBER OF BIDS RECEIVED - 6)

	BID SUMMARY				ENGINEER'	S ESTIMATE	Sposeto Engineering, Inc. 4558 Contractors Place Livermore, CA 94551 (925) 443-4200 (925) 443-5800 FAX		JJR Construction, Inc. 1120 Ninth Avenue San Mateo, CA 94402 (650) 343-6109 (650) 343-6207 FAX	
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	10-1.08	1	LS	MOBILIZATION	\$20,000.00	\$20,000.00	\$9,000.00	\$9,000.00	\$10,000.15	\$10,000.15
2	10-1.11	1	LS	TRAFFIC CONTROL	\$20,000.00	\$20,000.00	\$24,000.00	\$24,000.00	\$75,000.00	\$75,000.00
3	10-1.14	1	LS	CLEARING AND GRUBBING	\$5,000.00	\$5,000.00	\$36,900.00	\$36,900.00	\$12,500.00	\$12,500.00
4	10-1.17	297	CY	4(F) ROADWAY EXCAVATION	\$100.00	\$29,700.00	\$191.00	\$56,727.00	\$175.00	\$51,975.00
5	10-1.13A	1969	SF	REMOVE EXISTING CONCRETE	\$5.00	\$9,845.00	\$4.00	\$7,876.00	\$5.15	\$10,140.35
6	10-1.13A	280	LF	REMOVE EXISTING CONCRETE CURB AND GUTTER	\$20.00	\$5,600.00	\$11.00	\$3,080.00	\$21.00	\$5,880.00
7	10-1.13B	4290		REMOVE EXISTING ASPHALT CONCRETE	\$3.00	\$12,870.00	\$3.70	\$15,873.00	\$2.85	\$12,226.50
8	10-1.13	5		REMOVE/RELOCATE EXISTING WOODEN FENCE	\$50.00	\$250.00	\$145.00	\$725.00	\$150.00	\$750.00
9	10-1.13	2	EA	REMOVE EXISTING METAL BOLLARDS	\$150.00	\$300.00	\$150.00	\$300.00	\$500.00	\$1,000.00
10	10-1.13	151	LF	REMOVE AND RELOCATE EXISTING IRRIGATION PIPE AND SPRINKLER HEADS	\$20.00	\$3,020.00	\$20.00	\$3,020.00	\$35.00	\$5,285.00
11	10-1.13C	6	EA	REMOVE, SALVAGE AND REINSTALL EXISTING ROADWAY SIGNS	\$250.00	\$1,500.00	\$385.00	\$2,310.00	\$300.00	\$1,800.00
12	10-1.14A	46	EA	ROOT PRUNE EXISTING TREE AND INSTALL ROOT BARRIER	\$500.00	\$23,000.00	\$1,900.00	\$87,400.00	\$1,700.00	\$78,200.00
13	10-1.14A	46	EA	ARBORIST SUPERVISION	\$200.00	\$9,200.00	\$375.00	\$17,250.00	\$350.00	\$16,100.00
14	10-1.14B	5	EA	REMOVE EXISTING TREE	\$800.00	\$4,000.00	\$1,280.00	\$6,400.00	\$1,500.00	\$7,500.00
15	10-1.23B	1280	SF	MINOR CONCRETE (CURB RAMP WITH DETECTABLE WARNING SURFACE)	\$20.00	\$25,600.00	\$18.00	\$23,040.00	\$1 7.7 5	\$22,720.00
16	10-1.24	1	EA	RETROFIT EXISTING CURB RAMP WITH DETECTABLE WARNING SURFACE	\$800.00	\$800.00	\$700.00	\$700.00	\$1,100.00	\$1,100.00
17	10-1.23B	17685	SF	MINOR CONCRETE (SIDEWALK-4" THICK)	\$10.00	\$176,850.00	\$9.80	\$173,313.00	\$13.00	\$229,905.00
18	10-1.23B	680		MINOR CONCRETE (CURB AND GUTTER)	\$35.00	\$23,800.00	\$33.00	\$22,440.00		\$47,382.40
19	10-1.23B	930		MINOR CONCRETE (6" RETAINING CURB)	\$35.00	\$32,550.00	\$30.00	\$27,900.00	\$35.00	\$32,550.00
20	10-1.23B	3680	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY - 6" THICK)	\$15.00	\$55,200.00	\$10.80	\$39,744.00	\$18.55	\$68,264.00
21	10-1.23B	1090	SF	MINOR CONCRETE (RESIDENTIAL DRIVEWAY CONFORM - 6" THICK)	\$15.00	\$16,350.00	\$9.80	\$10,682.00	\$19.15	\$20,873.50
22	10-1.21	535	TN	HOT MIX ASPHALT (6" FULL DEPTH) PAVEMENT	\$125.00	\$66,875.00	\$194.00	\$103,790.00	\$250.00	\$133,750.00
23	10-1.21	325	SF	HOT MIX ASPHALT (DRIVEWAY CONFORM - 6" FULL DEPTH) PAVEMENT	\$10.00	\$3,250.00	\$11.00	\$3,575.00	\$12.50	\$4,062.50
24	10-1.25	1300	SF	DECOMPOSED GRANITE (2" THICK)	\$2.50	\$3,250.00	\$9.00	\$11,700.00	\$7.00	\$9,100.00
25	10-1.23	2	F۵	16"X16" AREA DRAIN WITH 3" DIAMETER THRU CURB DRAIN	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00		\$3,000.00

CITY OF HAYWARD CONSTRUCTION OF NEW SIDEWALKS FY16 - DONALD AVE AND HAYWARD BLVD PROJECT NO. 05268 BIDS OPENED: 12/15/15

(NUMBER OF BIDS RECEIVED - 6)

			BI	D SUMMARY	ENGINEER	'S ESTIMATE	Sposeto Engineering, Inc. 4558 Contractors Place Livermore, CA 94551		JJR Construction, Inc. 1120 Ninth Avenue San Mateo, CA 94402	
							(925) 443-4200		(650) 343-6109	
							(925) 443-5800		(650) 343-6207	
ITEM	ITEM CODE	QTY.	UNIT	DESCRIPTION	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
-26	10-1.23	5	EA	16"X16" AREA DRAIN WITH 3" X 5" RECTANGULAR THRU CURB DRAIN	\$1,000.00	\$5,000.00	\$1,100.00	\$5,500.00	\$2,500.00	\$12,500.00
27	10-1.28	192	SY	2' WIDE EARTH SWALE WITH TURF REINFORCEMENT MAT	\$40.00	\$7,680.00	\$55.00	\$10,560.00	\$85.00	\$16,320.00
28	10-1.13D	12	EA	ADJUST WATER VALVE BOX & COVER TO GRADE	\$500.00	\$6,000.00	\$120.00	\$1,440.00	\$250.00	\$3,000.00
29	10-1.13D	6	EA	RELOCATE WATER VALVE BOX & COVER	\$500.00	\$3,000.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00
30	10-1.13D	1	EA	REMOVE WATER VALVE BOX & COVER	\$500.00	\$500.00	\$200.00	\$200.00	\$200.00	\$200.00
31	10-1.13D	1	EA	REPLACE WATER VALVE BOX & COVER	\$800.00	\$800.00	\$600.00	\$600.00	\$150.00	\$150.00
32	10-1.13D	4	EA	ADJUST MANHOLE FRAME AND COVER TO GRADE	\$1,000.00	\$4,000.00	\$1,175.00	\$4,700.00	\$1,500.00	\$6,000.00
33	10-1.18	1	LS	RECYCLING IMPLEMENTATION	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00
34	10-1.29	3	EA	24-INCH BOX TREE	\$750.00	\$2,250.00	\$1,400.00	\$4,200.00	\$1,500.00	\$4,500.00
35	10-1.13C	3	EA	INSTALL RUBBERIZED SPEED LUMP	\$3,000.00	\$9,000.00	\$6,500.00	\$19,500.00	\$7,000.00	\$21,000.00
36	10-1.26	360	LF	THERMOPLASTIC STRIPING, MARKINGS AND PAVEMENT MARKERS	\$15.00	\$5,400.00	\$6.00	\$2,160.00	\$13.50	\$4,860.00
				TOTAL BID AMOUNT:		\$ 596,440.00		\$744,205.00		\$937,594.40
				TOTAL		\$596,440.00		\$744,205.00		\$937,594.40